i 2

X — Kl . :
SHCTION - A(xd) Y(m)  AY2(m4)
2PI  5.352X0,032=0,3425  1.766  1.0882
18Rib  0.260%0,028=0,1310 1:620 ©  0.3438
Rib  # X » =0,0201 1,350 0,0455
4Rib »oOX N = oy _0.750 0.0164
Rib-  # X w = 0,250 10,0018
2P 3,500X0,032=0,2240 0 V0,2087
0 A=0,7848m 1 =1,7044m*
W =0,956m oy =14T4m
Y — Yl : , _

C o SECTION  A(mt) X(m) o ASKE(me
9Pl 3,500X0,032=0.2240 2,660  "1.5849
12Rib  0.260X0,028=0,0874 2,514  0,5524
ARib # X n =0,0291 2.000°  0.1164
Rib 1 X Cwo= 1.500 0.0655
Rib o X w o= 1,000 00241
4Rib nX om o= w 0.500 0.0073
Rib 4 X ¥ =0,0145 o 0
2Pl 5,352%0,032=0,3425 00,8176

A =0,7848m 1 =3,1732m¢

W =1,186qy

g =2,011m
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Wi 3

- X —X#) ,
SECTION  A(n')~  Y(m)  A-Y3(m*)
2PI  5,268X0,028=20,2950 1.764 - 0,9180.
18Rib 0,250X0,025=0,1125 1,625 0,271
Rib  » %X 7 =0,0850 1,250 . 0,030
Rib r X w = n 0,750 0,0141
Rib X wo= W 0,250 0,0015
2PI 3,500X0.028=0,1960 0 0,2001
A =0,6785m - T =1,4699m*
W =0.827m y =1.472m
Y — Y H ' |
SECTION . A(m) X(m) - AX*(m4)
9P1  3,500X0,028=0,1960 - 2.620  1,3454
12Rib  0,250X0,025 =0,0750 2.481 0,4617
Rib  » X =0,0250 2,000 0.1000
Rib - # X n = 1,500 0.0562
Rib  # X o= 4 1,000 0.0250
Rib  # X o= 0.500 0,0062
Rib 4 X 4 =0,0125 0 0
9Pl 5.268%X0,028=0,2950 0 0.6823
A =0,6785n I =2.6768m*
W =1,016r2 y =1,986m
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Wi 4

X— X .
SECTION ~ A(m?)’ Y(m):  AYZ(m*)

Pl 4.665%0,025=0,2333  1.7635  0,7247
18Rib - 0,250%0,02%5=0,1125 1,635 = 0.2971
Rib 4 Xoon =0,0250 1,250 - 0,0381
Rib v X = w 0.750 0.0141
Rib 0 X n o= w 0.250 - . 0,0015
2Pl 3,500%0,025=0,1750. 00,1786
' A =0, 5958m T =1,2551m*

W =0.707m y =1.45lm

Y~ Y |

SECTION *~ A(m) X(m) - AX(m4)

2Pl 3,500X0.025=0,1750°  2.320 - 0.9419
12Rib  0,250X0.025=0.0750 2.1825  .0,3572 -

Rib 7 X # =0,0250 2,000~ 0,1000
4Rib noX n o= 1,500 0.0562

RIb X o= 1,000 10,0250

4Rib noXoow o= 0.500 0,0062

Rib 0 X » =0,0125 0 0.
9P1  4.665X0,025=0,2333 0. 04216 .
- A =0,5958n¢ ‘T =1,9081m*

W =0,818m y =1,790m
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BIE

X ~ X1 |
SECTION  Alne) Ym)  AY2(m*)
P 4,022X0,022=0,1770 1,761  0,5489
14Rib  0,200X0,022=0,0616 1,650 0,1677
Rib r X # =0,0176 1,250 8.0275
Rib 0 X n o= a 0.750 0,009
4Rib #OX. ono= 0,250 0.0011
Pl 3,500%0,022=0,1540 0 0,1572
A =0, 4454m" I =0.9123m*
) W =0,5lby v =1,431lm
Y — Y |
SECTION Alrt) X(m)  AX2(m?)
9P1  3.500%0,022=0,1540 2,000 0.6160
C12Rib 0,200%0,022=0,0528 1,889 0,1884
MRib 7 X =0,0176 1,500 0.0396
Rib  # X # o= 1.000 - 0.0176
Rib o« X v = i 0.500 0.0044
2Rib # X # =0,0088 0 0
P1  4,022X0,022=0,1770 0 0.2386
A=0,4454m T =1.1046m®
W =0,549m y =1,57%m
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g
oy
A LL7
- 5 350 L
LB _ _
SECTION Almt) Y(m) AY2{m?)

2P, 4,662X0,025=0,2331
2P1  3.000X0,016=0,0060 1/6X0.016%3.0° 0,0720

1,125  0,5332

A=0,3291m I =06.6052m"
W=0,307no
TH
SECTION Alnt) Y(m)  AY3(m?)
9PI  5.350X0.025=0,2676  1.5125 . 0,6119
9Pl 3,000X0.016=0,0960 9,0720
A =0,3635m I =0,6839m*
W =0, 4482
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. WE |
R (FRBEY)

D+ P-+EQL) .
| s
1\\ _ : . M
P G R SN
P | | T .
| AR ] "\J“{
HHEBE 'EQ(L) K =§+K=0,5X0,12=0,06
i IR
WM w =waxX0.06=28.57t/nX0.06= 1,7142¢/m
2R w =11.26t/mx0.06= 0 6756/
#® w =0, 97t/m><1 35x7 ssxo 06=0 ﬁlsst/m
WH /o tibet. OJH 0516%‘*7%
4 .
4 o - _
W= 2857 /‘“; | wd= Wbt = 2887 Hn
o el
oris (et - WH= 0. 67564 — wH= L7142
WA D+ P +EYL)
Eiilvibaa N
T B
BfsE W
E*Eﬂﬁ V“j 35 OM/SEC
FHf (1884

B EE V. =ve 'Vz'Vnu
v 1=1,275 (H*‘55m)
ve=1l, 180 (L =400m)
V =1, 2?5)(1 180X 35.0=52.7n/sec

ﬁﬁ%’ﬁﬁ P =%4.p+V 29 C +An

p =0,00012¢-sec?/m*, v;=1,3

C =1.3 An=(2.5+1,5)%4.0m’/m
P =4 X0,00012X52,72X1,3X1,3X4,0=1,13t/n
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B A(lyvy 7 hhky)
WAHEE V =v vV
' v1=1,36 (H=130X0,65=85m)
va=1,19 (H=130n) .
o V =1,36X1,19%35,0=56.6m/sec
TEWME P =3:0+V 2.v4:C *Ay o .
o ve=1,0, C =1,8, An.=3(6,0+4,00=5.0
P =% X0,00012X56.62X1,0X1.8X5,0=1,73t/m

MEWE BUT) |
WATKFBE K =p-K=1,20%X0,12=0,15
TH (14849

W 8 M w =28.57t/mx0,15X2=8,57t/n
EF £ WM w =11,267 X # X2=3,38 »

B 1YYy T R) w =0,97X1.35X7.85X0,15=1,54 #
EWARPER H

: - ] oA N
; - = &
B |
= " )
Ipal < ‘&.C)'—Il‘j"/w‘ ’:—(;“_'"‘";" Wr- a k7 'f/»
, < : P it 2 22 M | ;f— e
Lo 4 | " - T l
A : S A BTTA
! Z P2 a4 & .
| &) ‘
£60_ 60O 400.0 oo lsto.
: (ton)
1 ) 3 4 5 6
W(T) | 46 | ~205 | 543 511 | —335 50
BQ(T) 368 | ~332 |1,720 11,720 | —332 368
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] i__;m_
i
. 1
i
dun
S Saw - -
25 —_——
] q

_BY(T)_

(ton)

-D+PS

FEHHE

FEE

R

=

1, 10

9,684

416

6,110

3, 12

437

42

479

5, 14

442

54

496
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6. BimItE
-
REEREIC &3 (HEMOY)
il 75 1 _ -
D+ P +EYL) N =17, 480ton
R - M =29,966ton-m
W TE ' -
A=1,1306m", W =1,783w, ¥ =2,172m
=()',:,\ ' [ 05
—p— 50,95
Oca T he
ge=——=6,560ton/m
11,1396 : :
I =43.0%2,1=90.3m (—MEE, —WEH)
I 90,3 : '

" 2:172

R (RE)

=41;6

{
Sooee= {2,100—15( — —14)} X10XL1,5
. v

=25,290ton/m'
29,966
1,783
6 0a=21,000X1.5=31,500t0n/m
0c b _ 6,560 +.16,810

Op=

=16, 810ton/

" Goa Gse 25,200 31,500
' =0,259-+0,534
_ - =0,793<0,95
Rl e 4 1)
D+ P+EXYT) .
N =8,557ton
M =2_4',-353t0n-m
A=1,1396n
W =1,196m
v =1,368m
8,557
S0
! =43.0%1,2=51,6m
{ 51,6
ST 1aes T

=7,510ton/n'

{
S oea= {2,100-15(—— —14)} X10X1,b
Y

=26,170ton/m

—148—



24,353
O === 20, 360 ton/ m
1,196 :
0ba_=21,000><1.5=31,508t0n/m‘
0o s 7,510 20,360
b= g
Gow . Osa 26,170 31,500

=0,287+0,646
=0,913<0,95
+ Point70
Wil Licks (SM0Y)
Ko A -
N =7,480ton

M =20,427ton-m _
A=0,8344n", W =1,333m, v =2.128m

ge=———==8,860t0on/nt
0,8344
{ 963
— = =424
¥ 2.128
Gea= {2,100-15(42,4—14)} X10x1.5
=25,110ton/nt
20,427 :
p = ————==15,320t0n/mt
1.333 .

0 0o=31,500t0n/ny
6c  Os 8,960 +'15,320
Gca Ose 25,110 31,500
=0,357+0,486
=0,843<0,95
BEEAF AT, BEDPNSCOTHE
- Point5(14) - - :
Wimi2 & (SM50Y)
Foful 5 1l '
N =7,480ton
M=14,000ton-m - _
A=0,7848nf, W =1,186m2, v =2,01lm

7,480
0 o=——'——=9,530ton/m
60,7848
{ 90,3 _
—_— = =44.9
¥ 2,011 .
6oa= (2,100—15(44,9—14)} X10X1.5
=24,550 ton/
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14,000 :
O 5= ———=11,800ton/mt"
1.186 :
¢ se=31,500ton/m' _
G s 9,530 11,800
+ = —t =0,763<0.95
‘Gea  Ose 24,550 31,500 o
KT A 5 o
N =8,557ton
M=16,020ton-m

A=0,7848n¢, W =0,956, vy =1,474m

8,557
0 e=——=10,900ton/nt
07848 -
1 43,0 1,2
s 2 e 85 ()
¥ 1._474
ooa= {2,100~15(35,0—14)} X10X1,5
=26, 770ton/m’
16,020 '
0 =———=16,760ton/n?
0,956

o 5a=31,500ton/n?

G  O» 16,900 16,760 '
+ = + =0,407+0,532

Oea  Osa 26,770 31,500

=0,939<0,95

* Point69 0%
Wit 3iC kB (SM50Y)
o
N =7,480ton
M=11,20lton-m
A=0.678nt, W =1,01607, v =1.986m

7,480 _
g ¢ =r=— —=11,020 ton/ "
0.6785 _
! (126,0—43,0) %1
— = =41,8
Y 1,986
Oga= {2_',100'-“15(41.8—14)} XIex1,5
— 25, 240ton/nt o
11,201 . :
O s ~—=11,020ton/m'
1.019 :

6 5a=31,500t0n/n?
Ge O 11,020 11,020
+ = 4 :
Gea  Gsa 25,240 31,500
=0,787<0,95

A A T, W AN D TEEE,
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« Point68
AR 19
D+P+L (-)
N =6,137ton
M=5,915ton-m
- Wi 4 SM5OY |
5_2'0Q5_958m', W =0,818m, v =1.790m
6,187
T e =" =10,300ton/
- 0.5858. .
1 36.0%1
—— =“‘__‘“—“—"“‘“=2 .

y 1,790
g

ce= {2,100—15(20.1—14}} x1¢
=2_0,080t0n/m‘
5,915

=7,230ton/nt

o 5=21,000ton/ n?

e O 10, 200 7,230
+ +

Oca Uﬁu. 20,080 21,000

={0,857<0,85
« IR
BB M=5,078ton-m
5,078 :
6 p==———=12, 790 ton/m*< 14, 660 ton/m* 8541
_ -~ 0,397
T E " N =887ton
- M=16,020t0n-m
SECTION  A(m)  Y(m)  AY2(m*)
2P1 - 5.350X0,032=0,3424 1.616 0.8842
2P1 3200 X0.016=0,1024 0.0874
A =0,4448m I =0,9816m*
W =0.601m2 vy =1,485
887
g e=—=1,90ton/m?
10,4448
16,020
o e =26,660t0n/m

*

o o =1,990+26,660=28, 650 ton/mF<<21,000 X1,5=31,500 ton/r?
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2) EMERD (BHETH

l 2 B M
B B ERCEY RS (1HYY) -
o NG ] Hi8) | Ha(t) Mi(tom) M (tem)
Bl% W | W) 6,945 5 —482 205 ... 50
B OBGHTE - ETER 9,205 | 85 —644 | 4,880 68
Hl# OB W 7,480 430 —519 29,965 54
i T . ' |
|w R o ® oW 7,881 5 854 |. 205 | 10,866
0 B R| 8,400 5 1,420 205 | 24,350
H
I

3) 7—F v IER |
7 — %/ﬁﬁﬁﬂ¢&ﬁ&@%bf _ :
V=20,0X59,0X8,0—4,75X3,75 X5, 5X8— 5. 125 X3.75 5.5 X 16 =6, 965w '
njbu—bwiﬁﬁﬁﬁﬁE2%thﬁﬁT6
W=6,965%2,45=17,064t

4) HOEFHH
| EEEESREXY. REEOBEER-4.0m 2T,
B
f=41,0—2,5=38,5m _ : T :

® K PHNME ORENC vm)  REBREAC /o) E(e/or)
—-2.5~—19.0m 2 2.0(RGHEE) C2,0=C) 60
—19,0~—24.0 0 750 7 ) 7.5(=C) 15
—24,0~—37,0 25 1,0(WE ) 12.5(=1/2) 155
~37.0~—41,0 40 0l » ) 20,0(=N/2) 155
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§a=1.0cnl 32 ,
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"H=5t
M =205+ 5 X8.0=245¢m
Bz 71

N
R= — £M/W
N

=15,477/20+ 245/83 333
=774+ 3 =7776<970t
H ==5/20 =0,3t<145t

(2) 1EHEE _
N=9,275+17,064/2=17,807t
H=8bt
M=4,880+85X8=5,560tm
Wi H
R =17,807/20%5,560/83.333 =890 67=957t <970t
 H=85/20 =4,3t<{145¢

(3) HuWwe
N =7,480+17,064/2=16,012¢
H=1430+8,532X0,06=942t (AEEBHEED,06)
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Wb
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(2) gk
ms |
N=8,490+17,064/2=17,022¢
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